[bookmark: _GoBack]Make a “mind map” that covers all the concepts/facts/details in the Intermolecular Forces chapter and the Balancing and Types of Reactions chapter. 
· You need to use color to help chunk the information
· Connect topics that are related to each other with lines 
· Make sure you list DETAILS and FACTS not just topics
· Include 5 practice problems in your mind map that are similar to the kinds of things you think you will find on the Exam.
Here are a couple examples – these are not a chemistry example! It is meant to show you what yours should look like, the level of detail expected, etc. 
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